EARAROBEEIERT — 2 N— IBISH —F

20165F8A6H (+) 6M=%13H

m FIZVWRER C2 ¥5%R—® (xwlw | mEmml - v ) oom s
[A&4£] 17 :200,000" ~ 23#%&:50,000"  33%&:25,000M”  43%&:15000MH .~ 57 :10,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- - =Y ES 126. -1-1- . — ITHER ()
1 9 =3 )=H 4 6 5821_0 1(2_6)1 1-1-1-1 | 40.7 4 (4_615) el
LR8F2—ATUNF1 B:=Z2/TLAT AR
S x5 . BAHH :26. -4~ 6] — Hehfh— (B
2 4 *xS5ESLh—2 4 6 G 1(72?:; 2-2-4-2 | 40.6 5 (4+535) i
LT RIAYL—> BHAA-%5F =it
. . o 1ERHH 126. -5-3- . — HAKRE (&)
sy 7| XTFRE=T T CEENE o A A ° ff; ms
LI ATA—H— B:eEV¥X [ a=bae]
G F— T — 4t 4 | B2)IIEEL 1:26.8 9-10-10-9 | 40.0 | — 7 460 | AEASEA (SH)
4|8[10| 7y F-AF—N 54.0 (1 172) G | E—1s
RSPVTSE BTIFFL BE%S
SR # 4 | THEK 1:27.3 3-3-2-4 | 41.7| — 8 462 | BRfE— (B
50111 A K= ¥¢53.0 (2 1/2) (-3) FHFIEZ
Z:Nd B:7772R—-b BRES 4%
BIFFE IR . ~7-7- . — HFEZ (B5)
6lsls| T251755 7 w4 RS | T | P | mmEr
B4 FY ML BiNYUEZ— ES4HTT— I
s . it 5 | MRS 1:27.4 6-66-6 | 41.6| — 9 462 | BAAKREE (SH)
7\7|8| Lo A> 54.0 (75%) oy |BEER
LHL A HE -y BiLAFTIA b BHIT7— I
S, SP REE—BR : -8-8- — BBaX#H (BH)
glgl11 T4 LTATEYT 4 4 e 1(/72{:) 4-8-8-8 | 41.0 1 zzg;j IJ-IJZELE
L:2FA4d—IL K B:vFIvF pailzcbae]
. 4 4 | AREE 1:27.5 1-11-11-11| 40.5 | — 10 | 461 |AAREE) (&)
9|7|9| T~V 7 56.0 (AF) ) | T
Z:rva7x B:O—-AHX =Ty —LA
o o4 | HEME 1:27.7 5-4-5-5 |41.9| — 11 441 | RURFEE] (&)
10kl 3| FL>TUF—7 55.0 (3/4) gy |NNEFE
R:vavrshe7 B:THLHLyH— KBz a1 75
o ; > 6 | ERBRI 1:28.3 8-9-8-10 |41.8| — 2 466 | ERIE= (SH)
11 6| KTzILT “ 0 5.0 @) (20) | VB) R—27T
R:xA1=ZGr7—R B:T7ITHLEY— TIX¥TT— L
® I —F—@EBIERL
13—7+— 2,4,1,11,3,(5,8),6,(7,10),9
2a=7r= 2,4,1,3,7,8,5,11,6,10,9
30—7+— 2,1,7,4,3,8,5,(6,11),10,9
40—+ — 2,4,7,1,3,8,5,11,10,6,9
[ N3
BB 2 600H 714K 2-4 570M % E 2-4 1,540M 3EHE 2-4-7 4,750/
8 B 2 180F4 2-7 520M B & 2-4 2,220M K31 2-4-7 24,240
4 300H 4-7 1,320 B H 2-4 3,760/
7 240M

ABICOVWTRDTEEERROODE. TR LIV,



